
640 LC4 ENDURO ORANGE 2006 <2006><EU><9703F6>
LIGHTING SYSTEM

2379

Pos Part Number Description Additional Text Quantity

1 5841402600030 FLASHER CPL.FRONT R/S REAR L/S BLACK 2.00

2 5841402500030 FLASHER CPL.FRONT L/S REAR R/S BLACK 2.00

3 58414028000 FLASHER LENS L/S & R/S '98 ORANGE 4.00

4 44111015100 BULB 12V 10W (BA15S) 4.00

5 58414030000 HH COLLAR NUT M10X1,25 WS=13 MINI ADV. 4.00

6 0797100003 LOCK WASHER DIN6797-J10,5 ZI 4.00

7 0125100003 washer DIN 125 A 10.5 ONLY FOR 640 DUKE 4.00

10 58414001100 HEAD LIGHT CEV 547 RIGHT/S. H4 RHD 1.00

14 57111038000 BULB H4 12V 60/55W (P43T) USA 1.00

16 50211537000 RUBBER CAP 1.00

17* 49011435100 BULB 12V 5W (W2,1X9,5D) PHIL. 2.00

19 0014060203 HH COLLAR SCREW M 6X20 WS=8 2.00



20 58414040100 REAR LIGHT CPL. LC4 2001 1.00

21 58414042000 BULB 12V 21/5W (BAY15S)REINFO. 1.00

22 58414040051 METAMOLL FOR REARLIGHT 99 15MM X 50MM X 5MM 2.00

23 41001052000 RUBBER SLEEVE D=12MM 3.00

24 58714048000 REAR LIGHT BUSHING 3.00

25 51006097000 WASHER 6,2X22X1,ST30,W.GALV. 3.00

26 56509064100 Self locking nut M6 - 10 3.00

30 58414047000 LICENSE-PLATE ILLUMINATION '98 1.00

32 0021050003 washer DIN 9021 A - 5.3 4.00

33 0985050003 Self locking nut DIN 985 M5 2.00
* = New part


